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SECTION - |
MATHEMATICS & SCIENCE

Which of the following is not a colligative
property ?
(A) Optical activity

(B) Elevation in boiling point

(©) Depression in freezing point

(0) Relative lowering in vapour pressure

If the arcs of same length in two circles
subtend angles of 60° and 75° at their

centres, then the ratio of their radii
A 4q:7 (8) 7:8

©5:4 0)6:7

In a single throw of three dice, the
probability of getting a total of 5

A 1 (8 5

36 108
© 5 o 1

216 216
Ti nP,=npr_1a"d nCanCH_l, then the
valuesofnandr
(AAn=2,r=3 (B) n=5,r=4
©n=3,r=2 P)n=4,r=5

An artificial satellite moving in a circular
orbit around the earth has total energy [PE +

UL |
nfdra yd s
Prsfrfaa & O apiars o aE R -
(A yprdta feardieran
(B) gaerfid w1 I=1aq
© fRuid @1 srasH
() qruggrg &1 amfdrs s

W ol & a1 @) gl & dw W
60° AR 75° & PO gA1F & A IT e

& Broarait &1 arura g -

(A) 4 : 7 B 7 :8
€ 5 : 4 (D) g : 7
- A9 Uil & ahd IBTd H P AT 5
I B wlidar Brf -
(A) 1 (B)
36 108
© 5 o 1
216 216
W@ eprp, M nc N W on
3R r BT 7 BT -
Wn=2r=3 B pn=5r=4

O n=3r=2 O®pn=4r=5

- Th PEM ITE W RA F AR QAR
k3

AR 9 W MY &R W ], B oo
)

KE] E,. Its potential energy is ot (Refest vd e &) g, ®
(A —E, (8) E, T Rafsr ot 8@l -
© 2E, (© 15E, W -E, W By
© 2E, ® 15E,
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6.

10.

The molarity of pure water is (density of
water =1 gm 1)

(A) 66.66 M
(€) 44.4Mm

(8) 55.55 M
(0) 4555 M

The half-life period for a 2ero order reaction
is equal to

(A) 2K

R 8) 0.693
(A, KlA],
© [A], (0) 0.693
2K K

The nucleus resulting from 238[_] after
92

successive emission of two q-particles and
four B-particles is

(A} 230 (B) -3
«oTh el

© 230 (d) 23
94Pu 880Ra

A convex lens is in contact with concave
lens. The magnitude of the ratio of their

2
focal lengths is 5 Their equivalent focal

length is 30 cm. What are their individual
focal lengthsincm ?

(A) -15, 10
(©) -75, 50

(8) -10, 15
(D) 75, 50

If a body loses half of its velocity on
penetrating 3 ¢cm in a wooden block, then
how much will it penetrate more before
coming to rest ?

(=

10.

Y& el @ Molkar & (W & UIed = 1
gm 1

(A) 66,66 M (B) 5555 M
© 444 M (D) 45,56 M
W DR B affrm ¥ Ry ad o
Flel qUIae 2 -
(A) 2K B8  0.693
(Al K[Al,
(€) [A]n )  0.693
2K K

2?:;U ﬁa‘rq-wqd'ﬂwa-mﬁas
HHT IR & IRUTRTEY 999 qTel
e -

(A)

230 (B)

23
o Th )
© 230 @) 230
a4 Pu ggRa

TS I ol qddd ol & T F ¢ |
O Bed gRA F sum @
gy %%lsﬁaﬁm@amqﬂ
30 WA B | ST AT Bipw gl
. # 2nft -
(A) —15, 10

© -75, 50

() —0, 15
(D) 75, 50

I TH I B B TE IS W 3
Af g F amr 97 @ & L A T
ffam R Im h AR 5
=g & an Sy 2

(A) 3cm (B) 4cm (A 3 cm (B 4 ¢m
(A 1cm (D) 2cm © 1 em @) 2 cm
Page: 3



1. A small metal ball is suspended in an 1
uniform electric field with the help of an
insulated thread. If a high energy X-ray
beam falls on it
(A) The ball will not deflected at all.

(8) The ball will be deflected opposite to the
direction of field.

(©) The ball will be deflected in the direction
of field.

(0) The ball will move to infinity.

12. Root of the equation 3x2 4+ 7ix+6=0 |12
w 3. (8) 2
a1 21,1
2 3
(@ & (D) 3i, 2i
—31,51

13. A bomb of mass 9 kg explodes into 2 pieces | 13.

of mass 3 kg and 6 kg. The velocity of mass 3
kg is 1.6 m/sec. The kinetic energy of mass 6
kgis

(A) 1.92 Joule
(c) 2.92 Joule

(B) 9.6 Joule
(D) 3.84 Joule

14 A particle is projected at

horizontal with a kinetic energy K. The
kinetic energy at the highest point is

60° to the|14

qrgaﬁq‘:ﬁtﬁ‘l‘rﬁ"f‘dw-
eraa @ TEE fga & A der
it & | AR us e S @ Xeray
mmwmcﬁmriﬁéa‘r-

1c1ﬁaaqaeﬁaaﬁﬁwﬁfaérﬁaa1ﬁl
(0) g o W dell St |

TR 332+ 7ix+6=0 ¥ T
B -
w _. 3, ® _ 2
31,=1 ZL=1

2 3

2 -
(€ 315 (D) 3i, 2i

3
9 kg FEAE B UF q9 fAepc $ 4@
3kgaﬁ?skg$a‘r§am‘rﬁéfw%l
3 kg M BT 47 1.6 WAL 2 | 6 kg
T B TS St a8rl -
(A) 1.92 I (B) 9.6 cl
(© 292 T (D) 3.84 T

s B0 K TR St & 8RS ¥ 600

FIoT ) yART fFar Srar g @ SwaH
fig w i et el -

a) K
g 16" K ) K ® K
4 2 Z 5
(C) ze D
ro (D) K © = © K
Page:4
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15. The work done in placing a charge of

16

17.

18.

8 X 10°'® Coulomb on a capacitor of
capacity 100 microfarad is

(A 16 X 10732 Joule

(B) 3.1 X 107%¢ Joule

© 4 x 107*° Joule

(0) 32 x 10732 Joule

In what ratio does the point (-4, 6) divide
the line segment joining the points A(-6, 10)
and B(3,-8)?
(A)4:9

€ 3:7

(8) 2:7
(D)4:5

Ina AABC, AB= 63 cm, AC=12 cm and
BC =6 cm, then the angle B is
(A) 90° (8) 60°

@ 120° (D) 45°

Which of the following does not have a
metal carbon bond ?

-

6.

18.

16 X 10™%% NI

31 x 1072¢ v

@ 4 x 10710 o

©) 32 x 10732 Jd

A famgalt A6, 10) T B(3, -8) @
Sie 1 Ya@rEe B g (-4, 6) B

U & drem -
(A) 4 : 9 B 2 :7
€ 3 :7 D) 4 : 5

S BT AABC W AB = gy3 WL,

AC = 12 I3 @1 BC = 6 ¥R =1 <
BT B &I HE 81
(A) 90°

(8)  60°

() 45°

120° (D)

Preforea ¥ & Rt argad 49 T
g2

() Ni(CO), (8 C,H;Mg Br (AINi(CO), (8) C,HsMg Br
(© K[Pt(C,H,)Cl;] ® AI(OC,Hs), (@ K[Pt(C,H,)Cl;] (MAI(OC,Hs)s
" if y=3—2y2 then x2+ %willbe 9.9 yo_3_yz B A 24l @
x*
(A) 34 (8) 36 AE B -
(© 24 (o) 30 (A) 34 (B) 36
© 24 (©) 30
Page: 5



20.
IUPAC name of

21

CHy -CH- CH, - OC,Hq
ok

is

(A) 1-Ethoxy propan-2-ol

() 3-Ethoxy propan-1-ol

(€) Ethoxy pentanol

(D) 2-hydroxy-3-pentanone

A 25 watt-220 volt bulb and a 100 watt
-220 volt bulb are joined in series and
connected to the mains. Which bulb will
glow brighter ?

(A) Both will glow with same brightness
(B) 25 watt bulb
(€) 100 watt bulb

(D) First 25 watt bulb and then 100 watt
bulb

21.

| @ [UPAC A
OH

Fﬂnl 1-QATRT Wa-2-3ifcl
(8) 3-gAfeRf W-1-3ifct
(©) qofeRR vt

(D) 2-grEQIRN-3-YHA

25 qc -220 diec @1 UH dod DI 100
qre —220 diec & TR dod W AMHH F

Siee] & Reg @9 wER) I Ser
ST 8 | B9 9T dod 3D aHBI 2
(A) S=F ged TEME THBN |

(B) 25 qTe FT g
(©) 100 dIC T e

(©) ggat 25 9Ic & dod Y 100 9IS FT
doq

2. Three masses are placed on the x-axis : 300 |22 {9 TaqE x-38 W, 300 gm HT Hol
gm at origin, 500 gm at x = 40 cm and 400 ﬁ'ﬁ W, 500 gm BT x = 40 T w
gm at x = 70 cm. The distance of the centre T 400 gm BT x = 70 Ff ® W T
of mass from the origin is
(A) 40 cm (8) 45 cm E‘F‘i!r S T B oA g W gd
(©) 30cm (D) 50 cm (A) 40 A B 45 A,

(© 30 . (0) 50 FH.
2. If pendulum bob on a 2 metre string is|23. Jfe TH ﬁ@a‘q g W2 A AN =N

displaced 60° from the vertical and then

released, what is the speed of the bob as it is
passes through the lowest point in its path ?

doT 8, P FEAER ¥ gp° W of 9P

Brs fear <mar € | df9 &1 39 Uy W
fam fig &1 oRA W 3T w0 8@em 2

(&) /2 m/sec ®) /2 x9.8 m/sec (A7 AR ® /7x98 AR
p) 1
(€) 4.43 m/sec B = e (© 4.43 ARY. © 1 #n
V2 V2
Page: 6 622208
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24,

27.

The length of the minute hand of a clock is

14 cm. The area swept by the minute hand
in S minutes.

(A) 154 = (8) 154
—_— Cn]l- MY “
12 6 cm

(© 154 (o) 154
3 cm® ~— cm°*

The value of x in the following series :
1+6+11+16+......+x =148

(A) 37
(€ 39

(8) 38
(D) 36

Nessler’s reagent is used for the detection of
(A) Cu?t (8) Nat

© NH; (b) K*

Which of the following behaves both as
nucleophile as well as an electrophile ?
(A) CH,;CN (8) CH,;CHO

(€ CH;0H (d) CH,ClI

The perimeter of a triangular field is 450 m
and its sides are in the ratio 13 : 12 : 5. The
area of the triangle

(A) 6750 m?2 (8) 5670 m?

(© 7560 m?2 (®) 6570 m?

- Which ore contains both iron and copper ?

25,

26.

27.

28,

28,

Uh @ e arelt gf A arard 14
| fee arelt g & g 5 e #
&ax fhy My & @1 AEmd B -
(A) 1_54_ e ® 154 2

12 6
() Eﬁmz (0) 1_54w

3 9

ﬁqmﬁm%xmmm-

1+6+11+16+ .. + x = 148
(A) 37 (8) 38
(€ 39 (D) 36

THeRY AMNFHS FT SUART G AT H
forg grar @
(A) Cu2*t

(B) Nat

©  NHj D K*
fmr # 4 9F feed oo
FelaETE! QM1 B aRE B bRl § 2

(A} CH,;CN ()  CH;CHO

(@  CH;0H (d)  CH,Cl

o erer @9 &1 aREg 450 i ®
qAT SAGT YT T Y 13 ¢ 12 : 5
2 | PReTeR W9 1 83%d &8N -

(A} 6750 (B 5670

© 7560 #° ) 6570 #°

f&T o g N er 9 i S &

(A) Chalcocite (8) Chalcopyrite (A) HFrepRIET (8) GrePIURRIET
(©) Malachite (D) Cuprite (© Adgrge () FguTEe
Page: 7 622208
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31

Realvalue of xandy,if ¥ =1, 6 ¥y=1 =
3 +i 3—i

(A) -4,6 (8) 7,-7

(©) -10, 12 (D) -2,5

The number of moles of KMnO.; that will

be needed to react completely with one
mole of ferrous oxalate in acidic solution is
(A) 1 (B)

(€ (D)

Uil 1| N

o) W

If tanx 4 secx = /3,
0 < x <m, then xisequalto

such that

(A T (8) 2m
3 3
W (d) 5m
6 6

The rate constant for the first order reaction
is 60 s~1. The time in which it reduce the

11:1’1

16

concentration of the reactant to

valueis
(A) 46 seconds

(B)4.6 x 102 seconds

(©) 4.6 x 1072 seconds

(D) 2 seconds

31,

32.

33.

Wogy *-1 ¥y-1_ @ ,drya

341 3-—i
qreifde A 8 -
(A) -4, 6 (8) 7, -7
(€ -10, 12 (D) -2, 5

dRde & 1 Ad W T e 3
wie frar & forg amawas ¢ -

(A) 4 (8 2
5
© 3 (o) 4 g
5 5
afe tanx + secx = \@’ St

O<x<m W x @ A9 BN -
() T (8) 2T

3 3
© T (D) 5w

6 6

9 BIfe B ues afNfsar @ e
ReRi® gos—1 ¥ | a8 wma R

IPPRF B wigy 1D
16

HET XE Sran

gha
A 46 IHUST
B) 46 x 1073 3w

© 46 x 1072 3o
0) 2 HoeRy

Page: 8



35

Percentage errors in the measurements of
mass and speed are 2% and 3% respectively,
The error in the estimate of kinetic energy
obtained by measuring mass and speed will
be

(A) 2%

(€ 12%

(8) 10%
(D) 8%

In Friedel Crafts alkylation, besides AlCl,,
the other reactants are

(A) C¢Hg + NH;  8) C H, + CH,CI
© C¢Hg + CH;COCI

@) C¢Hg + CH,

A body cools from 80°C to 64°C in 5
minutes and same body cools from 80 °C
to 52°C in 10 minutes. What is the

temperature of surroundings ?

(A) 22°C (8) 28°C

© 24°C (d) 25°C

The water droplets in free fall are spherical
due to

(A) Gravity

(€) Surface tension

(B) Viscosity

(D) Intermolecular attraction

- Which of the following is not a good

conductor ?
(A) NaCl (molten) (8) Cu metal

(© NaCl(aq) (0) NaCl(s)

M

35,

36.

37,

38.

YA AR AT F YT N AT 2%
MR 3% @ wfverr JR A 0 | gemE
AR At & wg N yra ARy Hof &

Mderd § FR By -
(A 29% (B) 10%
(© 129 (0) 8%

Wied #Ie & Yepliaror § pjc, ®
3rerar s § -
(A) CgHg + NH;  (B) CgHg + CH,Cl
() C4Hg + CH5COC

(®) C¢H, + CH,

@ @™ goeoc ¥ g4 °c TF I 5
e 4 g1 @ @ 9@ e ggeoc
¥ 52oc TP ULl 10 fFe # BT & |
YT & qTaTEaRel HT ag BT -

(A 22°C B) 28°C

© 24°C ()  25°C
HaAdde R W@ et @ §Q @
ABR MATHR fFad sRU Bar & 2
(A o (B) wgrar

0 g5 99

(D) SRIIS[H JAHHOT

frafafed # & a9 W YEae € € 2
(A) NaCl (Remger) (B) Cu ©Tq

(© NaCl(aq) (®) NaCl(s)

HANRRE

Page: 9




3. At the magnetic poles of the earth, a
compass needle will be
(A) Vertical (8) Bent slightly

(€) Horizontal
(D) Inclined at 45° to the horizontal

4 The length of a cold storage is double its
breadth. Its height is 3 metres. The area of
its four walls (including doors) is 108 m?.

Its volume will be

A 416 m? B 216 m?

© 316m? ®) 206 m?

g -

(A) geatery

®) gew A Fg# g8

© &y

) ARt A 450 W FH EE

40.Qm¥ﬂﬂﬂﬁﬂﬁ'mmm3ﬂ'
QR & | g Garg 3 AR | gua
R} DAy (@=arl fda) s s
108 2 & | 91T TE BT S B -

W 416 ® 2164
© 3164 @ 206«
Page: 10 62208



41.

42.

SECTION - 11
PRINTING TECHNOLOGY

Padding is used while

(A) pressing the signature

(B) cutting the signature

(©) reducing the swell of signature

(D) pressing the signature and cutting the
signature both

If humidity is more than

T - 1
Riféar 2averioh

" AR w1 v R e @
W) BATER B g™ & forg |

B) TEIER & BrEH AqT FE ¥
ferul

O gwer @ @i & a3 ¥ forgl

P) BEAER B qaI & U qur B
B B Al F H fou, 2

Deep- |42 afy amghan ARCICE A
etch plates damage. SU3T Wie &9 B o T |
(A) 60% (B) 65% (A) 60% (B) 65%
(© 70% (D) 75% © 70% (0) 75%

43 Italic types are ©. gerfers Trgy 0 B € 2
(A) horizontal (8) slanted (A afys (8) foRBT
(©) upright (D) condensed € Feafer 0) dgfig

44. ‘Blanket’ is used in - “. b B YA BT ® -

(A) Laser printer (8) Offset printer A R R § (B) it Rrex
(©) Inkjet printer (D) Thermal printer © Zdore A= § (0 opfq Rrex &

4. The equipment used to measure the density | 4. R % & U9 P AT H fore
of printing ink, is called W b SIM arer SueRor $Earar &
(A) Densitometer (8) Crome gauge A Sfaedies (B) ¥ A9
() Density gauge (D) Colour meter © WEH I (D) FHow-Hiex

6. 3D printing is : 4. 3D fMfeT & -

(A) 3-dye printing (A) 33z T

(B) 3-direction printing (8) 3-srReEE fAfeT

(€) 3-dimensional printing © fadfa e

(D) 3-dry-ink printing 0) 3-8 39 AT
Page: 11
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47.

49.

51.

Which type of scanner is used mainly in the
publishing work ?
(A) Cylinder

(€) Laser

(8) Desktop Flat Bed

(D) Roller

Gumming solution is used for
(A)Both  ‘Increasing ink receptivity’
‘Increasing water receptivity’

and

(8) Cleaning the blanket cylinder

(©) Increasing water receptivity

(D) Increasing ink receptivity

For which Indian script, types were made

firstof all ?
(A) Marathi

(€) Malayalam

(B) Kannada

(D) Tamil

What metal is used for increasing the
hardness of copper ?

(A) Al-(Aluminium)  (B) Zn (Zinc)

(@ Cr (Cromium) (D) Fe (Iron)

The metal used for photo engraving is
(B) steel

(D) copper/brass

(A) mercury

(C) zinc

The thin paper used for preparing carbon
copies is called -
(A) Copy paper

() Thin sheet

(B) Duplicator
(D) Flimsy

Who invented the paper cutting machine ?
(A) Roger Payne (B) Crawley

AT

48,

49.

50.

51.

52.

53.

§ gorT 50

et i AL
fapann wran & 7

@R BT ST
(A Riferve
8) Jepel Fie 98

(€ SR
e fferae wga fpar S @ -
R R

®) ipe Rifevey @ AHE & fory |
© g e qem & forg |
(0) = mfar gom & ferg |

fra wrd it & faw W wdvgm

(D) el

g9 MY & 2
(A) RIS (B) DTS
(€ Hgre™d () e

i & FoRal g9 & oy B A arg
HT vaN fear San § 2

(A) Al-Uegfrm) (8 zZn-(RNid)
© Cr-@ifmm) (D) Fe-(aEN)
Bler T B Uge 91g €
(A) HHS (8) el

© Riw (D) rqT/dide

FET IR AR &9 & fau wged
el BIN bedTdl & -

(A) HId YR (8) gfteTdex
© fF Ade (D) frerwRit

fFET TR Fed @ T T iR
fear 2

(©) Wilson (D) Altus Manitus (A) ISR 99 (B) TSl
© fIwm (0) goesT Hflew
Page: 12
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54

55.

58.

MU

. A systematic arrangement of pages by
numbers is known as
(A) Page layout (B) Page making

(€) Imposition layout (D) Graphic design

The iron press was started in
(A) England (8) Spain

(€) France (D) Germany

Which Rollers are supplying ink to the
printing plate in offset machine ?
(A) Ink Ductor Roller (B) Water form Roller

(©) Ink form Roller (D) Ink Distributor

What is PS plate ?

(A) Process surface plate
(B) Presensitized plate
(€) Pure solution plate

(D) Photographic screen plate

The blank printing unit for spacing is called
(A) road (B) quad
(€) prop (D) rack

Air conditioning improves the performance
of plate room because

(A) Due to Air conditioned room dust does
not affect the plate badly.

(B) It is very comfortable to worker.
(©) All of these

(D) It control the humidity and temperature
both which helps in developing.

54

55,

56.

59.

T HEA & 7
W) ¥ Q-amee (B) o AT

(O I o-3dhe

(©) fther fEwra

AR T B oo gg M

(A g ¥ (8) T A

(© wivr A (©) S §
AR 7lE § a9 @ Ja AT we
B W& 9gad ® ?

(A) g=p gaeX AerX (B) JreX B A
© 5% o JeR 0 7% e
qTE. @ T E ?

(A) IR WY @i

() WRiRTEESe wic

(€ @R HegIH wie
(®) wiernfhs A we

R B <id BfET Jfe seanm ¢ -
(A) e (8) F@TS
© Hy (D) Y

o W9 H JAgged B TR GERT B

(AT ferd B8 H g & FaW T A
A wic yuifda & erit © |

(B) g5 & oIy I8 IRPEEE § |

(€ gg gt

Oyg d9 IR <M B FRbE

Ial & o & ffenm ¥ wErar
el g |
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60. Screen Printing method was introduced in

the year (A) 1920 (8) 1904
(A) 1920 (8) 1904 (€ 1910 (0) 1894
(©) 1910 (0) 1894

6. A4 R BT BN B

61. What is the size of A4 paper ?
(B) 210 % 297 mm

(A) 212 « 299 mm (B) 210 x 297 mm (A 212 % 299 mm

(€) 230 x 297 mm (D) 220 x 480 mm (€ ShgcisFmin (D) 320 % 480 mm

82 Which is the solvent used in lithography and | 62 ferefommt T sdfpe e # e
fIaras &1 WA e €

offset printing ?

(A) Chemical solvent (8B) Lacquer solvent (A e faddmras

(€) Printing ink (D) All B) AFX fIaH
© qor =@ O W
83. Which one is advertising product ? 63 B A1 ST SAE & ?
(A) Boxes (8) Envelopes (A) g (B) Tdelq
(©) Catalogue (D) Books (©) hearT (D) g
8. Who is said founder of ‘Modern- |8 f6) <Mygf® THAA YEUT H YD
Planographic printing’ ? HE 9dl © ?
(A) John Gutenberg (B) Kelhein Stone (A S :qua—rf (B) dhoele W
(€) None of these (D) Alois Senefelder © 399 q DI TEI
(0) TATTH Teilheex
65 An American engineer named ‘Wilson’ have | 6. 3@R® gonfaR fRAca 3 @ &t oft
pestes (W wferr v (8) i WA
S— 3 i T ,
: : Il:ullfng machmeh (8) Stitching machine © f ;
C) Perforating machine
: ° : ‘ (D) T3S &€ TR HfeT 79
(D) Slide blade paper cutting machine
66. Consideration of pH factor is made 6. pH R (pH Factor) "IﬂﬁT’T g ®
(A) In printing paper (B) In printing ink W BfET IR § B ffeT e i
(€) In dampening solution © R & 0 77 Wi

(D) All of these

MITIEHTR o



| 67

71

When printing surface is wetted with water,
then defect in printing is called
(A) Blinding (®) Scumming

(©) None of these (D) Swelling

The coating of plate is badly affected by
(A) Yellow light (8) White light

(€) Blue light (D) Green light

Which among the following is not a word
processor ?
(A) Corel write

{©) Microsoft Word

(8) Word perfect
(D) Ajax

In which printing process oil based printing
ink is required ?
(A) Offset printing

(8) Flexographic printing

(©) Screen printing

(D) Letter press printing

What do you mean by A.l.LFM.P. ?
(A) All Indian Film Making Partner
(B) None of these

() All  Internal
Production

Forums of Machine

(D) All India Federation of Master Printers

In negative or positive working process
precoated plates are known as
(A) Deep-etch plate

o i Rfen wag ot @ ofrm ard @A
e § g G wEetrar ¥ -
(A wirgfrgm (8) EenfiT

(© gy & wg et (0 wdfefn
o e WA wr dareft sfEn spfa

et & -
(A Qo yPHTe grer (8 g UHI G

(©) Aot wHry gy (0) BY WHIA G
eg,ﬁﬂﬁmﬂﬁﬂmﬁ'ﬁm’m

%7
(A) PR TZS (8) q& qIhac
(€) HrEgPRITE 9¢  (0) ara

o g e ufpar & da smfRa ffET
e B HaEHA & ?

(A) giipRre fifT
(B) Foiqannfha T
© wpi= MfeET (D) grex ww T

7. ALF.M.p. T ® ?
(A) 3ife sfreaa b Hfd=T TIER
(B) T 9§ IS &
@O3fd FTEA BREE  A®  HA
e
(D)3t 3T PeWH IATH AR e
2 IPRME 1 GORIHS PR |

?—éﬁaﬂﬁaﬁﬂmwﬂmm
?

(8) Pre-sensitized plate A Fo-rg wie

(©) Wipeonplate (D) Bimetal plate ® f-A=EETs We
(€ qrgy 3T e (0 qrived Wi
Page: 15
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73. What is the use of paper plates ?
(A) Printing on screen printing machine

(B)Printing  on double colour offset
machines

() Printing on metal printing machine

(D) Printing on small offset machines
74. What is ‘RIP’ in digital description ?

(A) Revolving Inking Process

(8) Revolving Image Projector

(©) Raster Image Processor

(D) None of these

75. ‘Driers’ are mixed with printing ink for -
(A) For concentration

(8) Dry the ink after use
(C) Darken the ink

(P) For improving the brightness of printing

76. PowerPoint is an example of the following :
(A) Presentation graphics software

(8) Raster graphics software
() Gray-scale graphics software
(D) Photo management software

77. Chlorides are used in :
(A) Negative making

(8) Seasoning of papers
(C) Blanket cleaning

(D) Deep-etch plate making

73.

74.

75.

76.

TR e & JA0 |1 8§ 2
MR i 7efe W varg & forgl

B) QPHFR e 7T W BUE F
ferul

© Fed RfeT a7 w® varg & forg |
P) B e 7MF W) BUS & forv |

e av & RIp @1 & 2

(A) Rarfed e o

B) Rarfed 379 Woigex

(O IRER T TRRR

) 38 A P L
T« § 2w @ e s
3.

(W) gigor & forg |

B wWE § W $ e gEn &
forg |

© W& D BIAT B b I |
(0) BUTE P TS qe@ & forv |
ueR-Erie fEffed &1 S @
(A AT Wby AR
(B) Iex Uifhey wAitedaR

© A M AR

(@) B FFome Hiredar
FIARIZS B T 2T § -

A frifeq 99 &

B) BN & Hafir &

© <ide H awrs §

®) u-v7 we = §
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82.

Which plate is used commonly in newspaper
printing ?

(A) Pre-sensitised surface plate

(8) Wipe-on-plates

(c) Bimetal plates (D) None of these

Which is not a Book binding equipment ?
(A) Divider (8) Level Adjuster

() Hammer (D) Set square

‘Squeegee’ is a equipment which is used as
(A) Pressing in offset printing

(8) Spreading ink in lithography
(c) None of these

(0) Spreading ink in screen printing

What is NIP Technology ?
(A) Newly Invented Printing

(B) Non-Impact Printing
{€) New Internal Process

(D) New Internal Programme

The use of ‘Whirler’ is for

{A) Drying the light sensitive coating on the |

plate
(B) None of these

() For regulating the pH value of coating
solution

(D) Mixing
material

the light sensitive coating

B AEER-GET @ BfeT & g FE W

79.

W TR et ' 2

(A 7d TIt IRBY wie

(B) qT3Y-3i Wied

© fRug @ (0) g & P Tl
B A UG Rieearor N TEl § ?
(A) Rvree (B) ifdet TeweX
(©) wirer (D) ¥ PIUH

8. TSl TH VT SUBRYT © R wged

81.

82.

féar Sirem © -

(A) gipeie fifeT # a9 & forg |

8 foelmmet § W@ & bas & forgl

© 79 9§ PIs 7Tal

OigpE BT § w@ @1 bad
feral -

NIP' SHTAST RIT & ?

(A) eft g MfET

(®) H-zee M

(€ = =X AR

(0) v gTHA URIH

et (Whirler) &1 @nT far imr @

(A) [HY WASH AU Pl e W @M
& forg |

(B) T | @I el

© oo faemT &1 pH FriFT &4 &

O)yHTe dded o9 Uarll B AW H
falE & & forw |

AR

Page: 17

622208



e

83

87

What is the correct ratio of wheat flour,
allum and copper sulphate in making paste ?
(A) 20:05:01 (8) 20:02:01

(©) 10:02:02 (0) 10:02:01

In a3 20 M long row how many N of 8 point
type will be

(A) 30N (8) 60 N

() 40N (D) 20N
Six pica is equal to

(A) 0.5 cm (8) 0.S inch
(© 1inch (D) 1cm

The largest size of paper among the

following is
(A) Letter (8) Legal
(C) Ledger (D) Executive

What is manuscript ?
(A) Hand Written text (B) Printed sheet

(©) Write-up on photograph
(D) Various type faces

- The "Acid’ is used for Bimetalic plate making

Al

85

86.

87.

88.

af qm F fa, fhedd @ e &

I SFI B 7 -

(A) 20 : 05 : 01 (B 20 : 02 : 01
© 10 :02:02 (10 : 02 : 01
20 wn o) df¥ W 8 WigT ergy ¥
Pl fhat ¢ B 7

(A 30 T (8) 60 U

(€ 40 U+ (D) 20 U4

o R frd aeax & 2 ‘

(A) 0.5 WAA. (8) 0.5 g4

(© 1%g (0) 1 .4,
frforRad ¥ a0 991 FINT € -

(A) oex (B) offTret

(© SR (D) TeTIRElq
AR T T 2

(A) gferfed eRe (B) e Hie
(O ®IERrTE TR fdsmaT
() fafdey yepR & BN

qEfTe wWe AMHT § < wgwa

(A) Lactic Acid (8) Nitric Acid foar <irar & -
(©) Oxalic Acid (0) Hydrochloric Acid (W) dfdes spar (B) Efes o
@ Ifeaferd 3
(0) EEQEAIRT 3Pl
89. Lithography means - 89. foreiomet &1 I ® -
(A) Metal writing (B) Paper writing (A) g WX oET (B) BT W oEH
() Stone writing (D) Plate writing © R R} @9 (D) W W oad
I .
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, Whya ruling machine is called disc ruling ? o0 wfdfr e @ sl #® we
(A) Discs are used for setting ink transfer NG )
system. W » wrerRa & b foly
(6) Discs are used for setting the conveying o w1 warm we € |
tapes. ) Ry &1 warm ‘w20 @ Afa
(€) Discs are used for making lines ¥ fore s € |
(0) None of these © Ry &1 WA ‘argd aa & foy
A T
(©) g A B TE
1 ‘Ammonium Bichromate’ is used for 9. JAFIH qrgsme o1 waw fear s g
(A) with ink (B) coating material A TR F qa
{€) making solvent (D) None of these ®) o g F w9 H

© Rars 9 § (0) 379 F FIg @l
2 In making of ‘pulp’ which process is not|% T 99 § B A wfehar el gt

adapted ? ST g 2
(A) Boiling in Digester (A) urgd § 1T
(8) Cutting of Raw material (B) Hed ATl P Bl
(€) Beating process (D) Developing (© &ifeT ufepar 0 e
%2 The operational principle of section|®. fgE Nk g9 @1 RaEeE bga
gathering machine is &1p

(A) Arm and rotary  (B) Lever and hopper

(€) Conveying belt (D) None of these

(A) I Tar e} B) AR IR W
O FRFT I O T A DS TE

9. Type writing through photo mechanics is|%. BT ¥HfFag & ARIH § TIZY ST

designated as B Yrogu 4 w9 ¥ B ©
(A) Photo type setting (8) DTP (A) BieY ey AfdT
() Hot setting (D) Non-metal setting (8) SN

(© gfe afdn (0) F-ed AfT

L )




9. Who uses first ‘Chemical Transfer Process’
(CTP)?
(A) Times of India Press

(8) Codak Limited Company
(©) Hindustan Press

(D) New York Times Press

Which is the correct steps in surface plate
process ?
(A) Cleaning - Graining - Coating - Exposure

(8) None of these are correct.
(€) Coating - Graining - Cleaning - Exposure

(D) Cleaning - Coating - Graining - Exposure

97 The primary memory of a computer that

store information temporarily is known as
(A) Random Access Memory

(8) Read Only Memory
() Permanent Memory

(D) Digital Memory

RGB stand for
(A) Red, Green, Black

(B) Raster, Graphic, Bench
(C) Red, Green, Blue

(D) Red, Green, Balance

The other name of Lithography is
(A) Planography (B) Flexography

(C) Straight Printing (D) Flat Printing
Which one is crown size of printing paper ?
(A) 20 x 15 inch (8) 17 x13.5inch

(€) 22.5x17.5inch (D) 25x 20 inch

100.

o AP arer wfFar @A) &

wayir e fswa fear 2
(A erge aifm gfrear 9w

®) drem for, e
(© fRegwmr o
(o) wpifd ergwr 9

9. R e ufbar § w w9
(N IHrE - AT - AU - IEHRA
(®) gy A B wE qE |

(© oy - AT - B - I
(0) qHTE - g - AT - I

97.Wﬁmmmﬁﬁmm
Y TFHR Wfed B & I PEl AT

-g_

(A) ¥eH TR FARY

(8) s et HERI

(© it FER (D) fefiead HHNI
% RGB ¥ UHd ©

(A Vs, M, <D

(8) IR, UTfthad, &9

© ¥s, W, = @ I§, W, 6N
9. fHARMH &7 I ¥ 7

(A) SRS (B) olaRINIT®!

(€ we MfeT (D) gore Mf<w
100. ST QR @ feUrE s B AW R 2

(A 20 x 15 §9 (8 17 x 13.5 ¥4

(€) 22.5 x 17.5 §9 (D) 25 x 20 §9

UG
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